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Refer to ResoUrce Booklet 91177R when answering the questions in this booklet. assise

Brianna own® Sweetworld, a retailer of lollies, chocolates, and fudge.

QUESTION ONE

(a) Refer O Resources One and Two in Resource Booklet 91777R to complete the table of
analysis measures below. Round your answer fo one decimal place where necessary.
Analysis measure 2013 2014
percentage change in sales 3% 20 %
Mark-uP percentage 100% 100%
Gross Profit percentage 50% 50 %
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At the start of the year ended 31 March 2014, Brianna entered into an agreement with her
* suppliers fof them fo supply Sweetworld with inventory at a lower cost.

(b) Justify how this agre(?ment with Brianna’s suppliers of inventory has been successful for
Sweefwon‘d. include in your answer:

reference to information from the table in (a) and from Resource Two

an explanation of the meaning of a mark-up percentage of 100 per cent

g description of what an unchanged mark-up percentage indicates about the price
prianna has charged her customers in 2014, given the agreement she has with her
suppliers

an explanation of how the unchanged mark-up percentage has contributed to the
success of Sweetworld in 2014.
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QUESTION TWO.

(a)

Refer to Resources One and Two in Resource Booklet 91777R to complete the tabie
below. Round your answer to one decimal place where necessary.

Analysis measure 2013 2014
Distribution cost percentage 10% 10%
Administrative expense percentage 25% 27.1%
Finance cost percentage 1.3% 0.6 %
Net profit percentage 13.8% .3 o J
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Refer to the table above and to Resources Two and Three in Resource Booklet 91777R to
answer the following question.

(b)

Justify whether Brianna should be concerned about the trend in Sweetworld's net profit

percentage. Include in your answer:

. an explanation of what the frend in Sweetworld's net profit percentage means

+  the main reason for the trend in the net profit percentage, with an explanation of how
the trend occurred

. an explanation of how and why finance costs impacted on the trend in the net profit
percentage

. an explanation of whether the trend in Sweetworld's net profit percentage is fikely to
continue in 2015,
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QUESTION THREE

(@)

Refer to Resources One and Two in Resource Booklet 91777R to complete the table
below. Round your answer to two decimal places.

Analysis measure 2013 2014

Equity ratio 0.79:1
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Refer to Resource Two in Resource Booklet 91777R to answer the following.

(b)

Justify why the equity ratio is a good indicator that Sweetworld is a financially stable

business.

&

nclude in your answer:
the meaning of the equity ratio in 2014

an explanation making it clear what Brianna did to influence the trend in the equity

ratio. The explanation should make reference to both asset AND liability information of
Sweetworld

an explanation of how the trend in Sweetworld’s equity ratio will be of benefit to Brianna
in 2015 if she wants to expand her shop.
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QUESTION FOUR

Refer to Resource Two in Resource Bookiet 91177R and information provided in Question One
to answer this question.

Brianna prides herself on the freshness and quality of the fudges she sells in particular.
The table below provides information for Sweetworld.

Analysis measure 2013 2014
Current ratio 2.41:1 1.89:1
Inventory turnover 30.8 times per year | 36.9 times per year

(@) Justify Sweefworld’s inventory turnover.
Include in your answer:

. an explanation of the meaning of Sweetworld's inventory turnover of 36.9 times per year
. an explanation for the trend in the inventory turnover

. an explanation of why it would be expected that shops like Sweetworld have an
inventory turnover of 30 times per year as a minimum.
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(b)

Justify how the trend in Sweetworld's inventory turnover also enhances the liguidity position

of the business.
Include in your answer:

. an explanation of the meaning of a current ratio of 1.89:1

. an explanation of how the trend in inventory turnover could positively affect the ability
of Sweetworld to pay current debt, even though the current ratio fell in 2014.
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QUESTION
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Extra space if required.
Write the question number(s) if applicable.
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High Excellence exemplar for 91177 2014 Total score | 32

Q

Grade
score

Annotation

E8

» Correct calculations with working shown in case of arithmetical
errors

* Explains the mark up percentage in context and how the same
markup percentage has been applied to a lower cost

* Explains the reduced selling price is a result of lower cost and
same markup and links this to sales growth as sales increased
from $400000 in 2013 to $480000 in 2014

* Links all of above to increased profit from $55000 in 2013 to
$59000 in 2014.

E8

* Correct calculations and correct rounding

* Net profit percentage explained correctly

» Justified the reason for decreased Net Profit % was a result of
hiring a new administration person and explained the affect of
this with reference to resource

» Justified that the finance cost decreased because Sweetworld
paid on the loan using dollar reference

* Explained how reducing finance cost percentage offset the
increasing administrative expense percentage

» Justified the decreasing Net Profit trend is unlikely to continue
because of steady forecast sales growth

E8

* Correct calculations

* Explains Equity Ratio correctly in context

» Justifies the improved Equity Ratio is a result of cashing in the
investment to reduce the loan and uses dollar amounts

» Justifies that the improved Equity Ratio will benefit Brianna if she
wants to expand, as it makes Sweetworld appear less risky to the
banks who will lend them the money for expansion

E8

* Answers both parts of the question and links the increased
inventory turnover to increased/improved liquidity through more
sales which increase bank in part (b)

* Explains the inventory turnover trend in context and refers to the
resource material which states Brianna prides herself on the
freshness of her fudge so this inventory turnover of 30times per
year minimum is expected.

* In part (b) Explains the current ratio correctly in context

* Justifies how although the current ratio has decreased,
Sweetworld need not be concerned because of the increased
inventory turnover

* Makes reference to the current ratio and how it has decreased
from 2013 - 2014




